\\\ st

— AY AY '—I—| AY
B ERITZ T PERE A8 SMERSE =
3 =] 4 & ==} 7 = i e s 24
1N :l:lﬂz ju i = ==Riukidhey W) (Ah) = = = (ke+3%) wmy  mTuE EEEZ
FC12-75AQ 12 75/10HR 260 169 211 231 22 L11 A M8X25
FC &% 12V Y
FC12-80AQ 12 80/10HR 331 174 214 240 24.8 L12 B M8X30
FC RIRmERRITZHNIBMERMES: #FHE., ZetaEal., FC12-80AT 12 80/10HR 331 174 214 219 24.8 T4 B M8X16
BRI FEhK, RENERS, TEESEER, BHEAE. FC12-80BT 12 80/10HR 260 169 211 215 23.3 T3 A M6X16
N FC12-80BQ 12 80/10HR 260 169 211 231 23.3 L11 A M8X25
=
Fnufﬁ'ﬁ FE12-10000m . FC12-80BP 12 80/10HR 260 169 211 231 23.3 L4 A M8X20
- FC12-90AQ 12 90/10HR 307 169 211 227 26. L13 A M8X30
B 5 i e 2R NABRRSG., 5557
W OB RERIE. BT W RF: RREMRL. FSR% FC12-90AT 12 90/10HR 307 169 211 215 26.5 T3 A M6X16
- - 41 oo s
W z07): BETR. MENRFA W BER: EPS FUPS RY FC12-90BQ 12 90/10HR 331 174 214 240 27.8 L12 B MBX30
FC12-90BT 12 90/10HR 331 174 214 219 27.8 T4 B M8X16
EE,,{'E%W,*%% FC12-95AQ 2 95/10HR 407 174 210 233 29.5 L14 A M8X30
FC12-95QT 12 95/10HR 407 174 210 233 29.5 15 A M8X16
P s R~ =
HERE = SMERST () EE BERE R FC12-100AQ 12 100/10HR 331 174 214 240 29 L12 B M8X30
() D) = = B (kg% 3%) A=
FC12-100AT 12 100/10HR 331 174 214 219 29 T4 B M8X16
FC12-4 12 4/20HR 90 70 101 107 1.35 F1/F2 A /
T > 4, 5/ = 7 e T e = 7 / FC12-100BT 12 100/10HR 328 172 217 222 29 T4 A M8X16
FC12-5 1 5/20HR 90 70 101 107 1.58 F1/F2 A / FC12-100DQ 12 100/10HR 407 174 210 233 33 L14 A M8X30
FC12-6.2 12 6. 2/20HR 151 65 94 100 1.9 F1/F2 D / FC12-100DT 12 100/10HR 407 174 210 233 33 5 A M8X16
RO 12 T AR 151 6o i LY Zi PIA D / FC12-100EP 12 100/10HR 328 172 222 222 29.5 L5 A M8X20
FC12-7.2 12 7.2/20HR 151 65 94 100 2.13 F1/F2 D /
EETE = = 520 = = on T 55 /52 5 > FC12-100FT 12 100/10HR 331 174 214 219 29 T4 B M8X16
FC12-9 12 8. 5/20HR 151 65 94 100 2.4 F1/F2 D / FC12-100LQ 12 100/10HR 331 174 214 240 30.5 L12 B M8X30
FG12-10 12 8. 5/20HR 151 65 94 100 2.4 F1/F2 D / FC12-100LT 12 100/10HR 331 174 214 219 30.5 T4 B M8X16
Fe12-12 12 /2008 152 99 % 102 3. 38 falli? D / FC12-120AQ 12 120/20HR 331 174 214 240 23.3 L12 B M8X30
FC12-14.5 12 15/20HR 152 99 9 102 3.8 F1/F2 D /
TC12-18P 12 18/ 200R 181 — o7 67 515 T - 516 FC12-120AT 12 120/20HR 331 174 214 219 32.3 T4 B M8X16
FC12-18T 12 18/20HR 181 77 167 167 5.18 T1 B M5X16 FC12-120BQ 12 120/10HR 407 174 210 233 34.2 L14 A M8X30
FC12-20P 12 20/20HR 181 7 167 167 6 L1 B MSX16 FC12-120BT 12 120/10HR 407 174 210 233 34.2 5 A M8X16
FeT2-20T 12 20208 181 77 167 167 6 L1 B MoX16 FC12-1200Q 12 120/10HR 484 171 241 241 38 L16 A M8X30
FC12-24AQ 12 24/10HR 165 126 174 179 7.7 L6 B M6X20
FC12-24AT 2 24/ T0MR 165 126 - 174 77 3 B MoX12 FC12-120CT 12 120/10HR 484 171 241 241 38 T4 A M8X16
FC12-26AT 12 26/10HR 166 175 126 126 83 2 B M6X16 FC12-145AQ 12 145/20HR 532 206 212 236 41.4 L17 G M8X30
FC12-26AP 12 26/10HR 166 175 126 126 8.3 L2 b NSX16 FC12-145AT 12 145/20HR 532 206 212 217 41.4 T4 c MEX16
FC12-33AP 12 33/10HR 196 130 155 179 10 L7 A M6X20
FC12-150AQ 12 150/10HR 484 171 241 241 43.5 L16 A M8X30
FC12-33AT 12 33/10HR 196 130 155 167 10 T3 A M6X16
Fo12-38A0 m 38/20MR 197 166 174 79 123 % B WOX20 FC12-150AT 12 150/10HR 484 171 241 241 43.5 T4 A M8X16
FC12-38AT 12 38/20HR 197 166 174 174 12.3 T3 B M6X16 FC12-150SQ 12 150/20HR 484 171 241 24 41 L16 A M8X30
i O B 20 L L0 174 174 P L7 B 0n20 FC12-150ST 12 150/20HR | 484 171 241 241 41 T4 A MBX16
FO12-38BT 12 38/ 20MR 198 160 172 172 12.3 LK B Mex1e FC12-160AQ 12 160/10HR 532 206 216 240 48.3 L17 @ M8X30
FC12-42AQ 12 42/10HR 198 166 174 174 12.9 L7 B M6X20 i
FC12-42AT 12 42/10HR 198 166 174 174 129 T3 B M6X16 FC12-160AT 12 160/10HR 532 206 216 222 48. 3 T4 C M8X16
FC12-42QP 12 42/10HR 198 166 172 172 12.9 L3 B M5X16 FC12-180AQ 12 180/10HR 500 208 212 239 55.8 L17 @ M8X30
FC12-50A0 12 50/10HR 258 134 200 200 15.5 L8 A M6X20 FC12-180BT 12 180/10HR 532 206 216 222 52.2 T4 c M8X16
FC12-50BT 12 50/10HR 229 138 208 212 15.5 T3 A M6X16 ——— = o iom > ” - ™ — =
FC12-55AP 12 55/20HR 229 138 208 226 16.2 L3 A M8X20 Y B 2 2 ? o g 8
FC12-55AT 12 55/10HR 229 138 208 212 17.2 T3 A M6X16 FG12-180CT 12 180/10HR 522 240 219 224 5593 T5 (¢ M8X16
FC12-56AQ 12 56/20HR 350 167 178 178 17.2 L9 A M6X20 FC12-200AQ 12 200/10HR 522 240 219 244 58.2 L17 @ M8X30
FC12-56AT 12 56/20HR 350 167 178 178 17.2 12 A MoX16 FC12-200AT 12 200/10HR 522 240 219 224 58.2 15 c M8X16
FC12-65AQ 12 65/10HR 350 167 178 178 20.2 L9 B M6X20
o170 - RV 350 v 78 e 02 T S X1 FC12-220AQ 12 220/20HR 522 240 219 244 60.5 L17 G M8X30
FG12-65BP 12 65/10HR 350 167 178 178 20.2 L4 A M8X20 FC12-220AQ 12 220/20HR 522 240 219 244 60.5 L17 C M8X30
= FC12-70AQ 12 70/10HR 350 167 178 178 21.3 L9 B MéX20 FC12-220AT 12 220/20HR 522 240 219 224 60.5 15 G M8X16
FE- CIZ g iOA] 2 AR el &y i 8 i = E LSO FC12-220BT 12 220/10HR 520 269 203 209 68 15 c MBX16
b FC12-70BT 12 70/10HR 260 169 211 215 21.7 T3 A M6X16
=T B T T s o o o T 0 D FC12-250AQ 12 250/10HR 520 268 220 245 70 L17 @ M8X30
O FC12-75AT 12 75/10HR 260 169 211 215 %) 13 A M6X16 FC12-250AT 12 250/10HR 520 268 220 225 70 T5 C M8X16

8 O wan



